



姓名: _____

日期: _____ 分数: _____

$$\left(\frac{2}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{5} + \left(\frac{3}{4} + \frac{1}{2}\right)^2 =$$

$$\left(2 - \frac{2}{5}\right)^2 + \frac{2}{3} \times \frac{3}{5} \times 4^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{5}\right) \times \frac{1}{2} + \left(\frac{1}{3} + \frac{3}{2}\right)^2 =$$

$$\left(5 + \frac{3}{2}\right)^2 + \frac{1}{6} + \frac{3}{2} + 2^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{3}\right) \times \frac{1}{2} - \left(\frac{1}{4} - \frac{2}{3}\right)^2 =$$

$$\left(\frac{1}{3} + \frac{1}{2}\right)^2 + \frac{1}{2} \left(\frac{1}{4} - \left(\frac{2}{3}\right)^2\right) =$$

$$\left(5 - \frac{3}{5}\right)^2 + \frac{1}{2} \times 4^2 - \frac{3}{5} =$$

$$\left(2 - \frac{1}{2}\right)^2 - \frac{1}{2} - \frac{1}{3} - 4^2 =$$

$$\left(\left(\frac{1}{5}\right)^2 - \frac{1}{5}\right) \times \frac{1}{2} - \left(\frac{1}{5} + \frac{2}{5}\right)^2 =$$

$$\left(\frac{1}{2} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{6} - \left(\frac{1}{3} - \frac{3}{2}\right)^2 =$$



姓名: _____

日期: _____ 分数: _____

$$\left(\frac{2}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{5} + \left(\frac{3}{4} + \frac{1}{2}\right)^2 = \frac{79}{48} = 1\frac{31}{48}$$

$$\left(2 - \frac{2}{5}\right)^2 + \frac{2}{3} \times \frac{3}{5} \times 4^2 = \frac{224}{25} = 8\frac{24}{25}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{5}\right) \times \frac{1}{2} + \left(\frac{1}{3} + \frac{3}{2}\right)^2 = \frac{1219}{360} = 3\frac{139}{360}$$

$$\left(5 + \frac{3}{2}\right)^2 + \frac{1}{6} + \frac{3}{2} + 2^2 = \frac{575}{12} = 47\frac{11}{12}$$

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{3}\right) \times \frac{1}{2} - \left(\frac{1}{4} - \frac{2}{3}\right)^2 = \frac{17}{144}$$

$$\left(\frac{1}{3} + \frac{1}{2}\right)^2 + \frac{1}{2}\left(\frac{1}{4} - \left(\frac{2}{3}\right)^2\right) = \frac{43}{72}$$

$$\left(5 - \frac{3}{5}\right)^2 + \frac{1}{2} \times 4^2 - \frac{3}{5} = \frac{669}{25} = 26\frac{19}{25}$$

$$\left(2 - \frac{1}{2}\right)^2 - \frac{1}{2} - \frac{1}{3} - 4^2 = \left(-\frac{175}{12}\right) = \left(-14\frac{7}{12}\right)$$

$$\left(\left(\frac{1}{5}\right)^2 - \frac{1}{5}\right) \times \frac{1}{2} - \left(\frac{1}{5} + \frac{2}{5}\right)^2 = \left(-\frac{11}{25}\right)$$

$$\left(\frac{1}{2} - \left(\frac{1}{5}\right)^2\right) \times \frac{1}{6} - \left(\frac{1}{3} - \frac{3}{2}\right)^2 = \left(-\frac{289}{225}\right) = \left(-1\frac{64}{225}\right)$$